
1st declension - exercises 
 

1) Decline: 
scapula sinistra 
vesica urinaria 
vertebra secunda fracta 
 

2) Decline: 
fractura costae 
fractura costae quartae 
fractura ulnae aperta 
fractura ulnae dextrae aperta 
 

3) Put together: 
fractura  + fibula dextra 
   + costa tertia 
   + vertebra thoracica 
tunica mucosa + vesica fellea 
   + vesica urinaria 

 
4) Connect the phrases with prepositions: 

propter + pneumonia acuta 
cum  + fractura complicata 
in  + arteria profunda linguae 
ex  + scatula pilularum 
ante  + columna vertebrarum 
inter  + maxilla et mandibula 

 
5) Translate: 

Between the shoulder blades. 
From an artery into a vein. 
In the eye sockets. 
Prevention of pneumonia. 
Because of an open fracture of the left fibula. 
 
 
 
 
 

1st declension - revision 
 

1) Decline: 
mamma dextra 
patella sinistra laesa 
glandula linguae 
fractura mandibulae complicata 
 
 

2) Put together: 
insufficientia  + vesica fellea 
fractura  + vertebra tertia 
supra   + coxa vara 
in   + glandula thyroidea 
circum   + columna vertebrarum 
contra   + diphtheria et rubeola 
ex   + arteria nutricia 
inter   + fibula et tibia 
ante   + valvula aortae 

 
 

3) Translate: 
Diphtheria of tonsils. 
Under the mucous tunic of the tongue. 
From the vertebral column (column of vertebrae). 
Prevention of smallpox. 
With a complicated fracture of the right elbow bone. 
 
 
 
 
 
 
 
 
 
 
 
 



2nd declension – masculines 
 
1) Decline: 

humerus fractus 
cubitus sinister 
digitus primus 
cancer uteri 
ala nasi 

 
2) Connect: 

in (position)  + fundus ventriculi 
propter   + morbus malignus 
ex   + ramus nervi optici 
fractura   + radius dexter 
inter   + digiti 

 
3) Change the number: 

radius et ulna 
post icterum infectiosum 
spasmus musculi 
in bulbo oculi 
ex lobo prostatae dextro 
 

4) Translate: 
a) With a fracture of the wrist. 

Acquired and congenital diseases. 
Between the angles of the lower jaw. 
Prevention of cancer. 
Because of measles. 

b) From the wrist to the elbow. 
Because of a spasm of a nerve. 
After a fracture of the nose. 
Prevention of contagious diseases. 
Between the eyes. 

 
 

 

 

 

2nd declension - feminines 
 

1) Decline: 
periodus longa 
methodus directa 
(dentista bonus) 
 

2) Change the number (sg. into pl.): 
periodus prima 
post periodum primam 
in periodo criticā 
methodus nova 
cum methodo bonā 
(dentista novus) 

 
3) Translate: 

In the first period of cancer. 
With a new method of therapy.  
(For a good dentist.) 

 

 

 

2nd declension (masculines, feminines) - revision 
 

1) Decline: 
medicus bonus 
musculus linguae 
lobus thymi dexter 
methodus nova 
 

2) Change the number (sg. into pl.): 
malleolus sinister 
morbus gravidae periculosus 
ex angulo oculi 
post periodum morbi criticam 

 
3) Connect: 

praeventia ante + morbilli 
apud   + radius dexter 
propter  + cancer uteri 
cum   + methodus directa 

 



2nd declension – neuters 
 
1) Decline: 

collum fractum 
membrum sinistrum 
septum nasi 
ostium aortae 
vitium oculi congenitum 

 
2) Connect: 

ruptura  + labium 
cancer  + intestinum crassum 
sine  + remedium contra pneumoniam 
inter  + ovaria 
propter  + cerebrum laesum 

 
3) Change the number: 

spatium interosseum 
remedium pro adulto 
sine signo morbi 
in cavo cranii 
organa laesa 
 

4) Translate: 
a) Muscles of the back. 

Signs of jaundice. 
Between the duodenum and the jejunum. 
In danger of infectious diseases. 
A good remedy for measles. 

b) From a glass of ointment. 
Because of a fracture of the skull. 
In the cavity of the nose. 
Between the collarbone and the breastbone. 
Congenital defects of the pericardium. 
 
 
 
 
 

REVISION – 1st, 2nd declension 
 
 

1) Choose the correct form of adjectives and ordinal numerals: 
ligamentum ruptus, a, um 
arteria profundus, a, um 
digitus tertius, a, um 
coxa varus, a, um 
carpus dexter, tra, trum 
vitium congenitus, a, um 
methodus novus, a, um 
periodus primus, a, um 

 
 

2) How do you make the two nouns make sense together? 
septum + nasus 
fractura + radius 
lagoena + aqua 
praeventia + cancer 
columna + vertebra 
periculum + morbilli 
scatula + pilula 

 
 

3) What is wrong? 
signae morbi 
propter morbus infectiosus 
inter ovarios 
post periodum criticum 
oculus dextrus 
remedium pro pneumoniā 
fractura columnae vertebrae 

 
 

4) Translate: 
Without signs of a malignant disease. 
Due to an open fracture of the left radius. 
A good remedy for adults. 
Into the interosseous space. 
Broken limbs. 

 
 



4th declension – exercises 
 
1) Decline: 

partus praematurus 
manus dextra 
status criticus aegroti 
genu varum 

 
 
2) Connect: 

post   + insultus cerebri 
cum   + defectus auditūs 
ex   + ductus lactifer 
collapsus  + apparatus respiratorius 
inter   + manūs fractae 

 
 
3) Change the number: 

sensus humanus 
infra processum spinosum 
fractura manūs sinistrae 
propter genu fractum 
sine decubitu profundo 
 
 

4) Translate: 
a) In danger of death. 

Signs of a heart attack. 
With a slow pulse. 
Corners of the uterus. 
Because of damaged sight. 

b) The organs of the digestive system. 
In a bad state after cerebral apoplexy. 
From the visual apparatus. 
After a premature birth. 
Below the knees. 
 
 
 

4th declension – revision 
 
1) Human senses – find the match: 

auditus, ūs, m.   smell 
gustus, ūs, m.    sight 
olfactus, ūs, m.   touch 
tactus, ūs, m.    hearing 
visus, ūs, m.    taste 

 
 

2) Put together: 
ex  + manus dextra 
apud  + genu sinistrum 
in  + status criticus gravidae 
sine  + signa collapsūs 
propter  + defectus visūs 

 
 

3) Translate: 
Into the lactiferous duct. 
An ointment for deep bedsores. 
Signs of circulatory collapse. 
Complicated fractures of hands. 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



5th declension – exercises 
 
1) Decline: 

facies interna 
dies primus 
species urologicae 

 
2) Connect: 

signa   + rabies 
in    + superficies musculi 
propter   + scabies acuta 
post   + dies criticus morbi 
lagoena  + species aromaticae 

 
3) Change the number: 

superficies laesa 
dies longus 
propter cariem parvam 
in facie humanā 
 

4) Translate: 
Prevention of tooth decay. 
A glass of ointment for scabies. 
From a bottle of tea. 
Without defects of the surface. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

4th and 5th declensions – revision 
 

1) Choose the correct form of adjectives and ordinal numerals: 
sensus + humanus, a, um 
manus + dexter, a, um 
genu + varus, a, um 
superficies + laesus, a, um 
species (tea) + urologicus, a, um 
dies + secundus, a, um 

 
2) Find mistakes in following phrases: 

manus fractus 
praeventia cariei 
remedium pro scabie 
lagoena speciei urologicae 
decubitūs profundūs (pl) 
genua fracti (pl) 

 
3) Change the number: 

arteria faciei 
cum carie profundā 
effectus medicamenti 
in statibus incertis 
propter situm fetūs transversum 

 
4) Connect: 

in  + sinus nasi 
sine  + vomitus gravidarum 
propter  + pulsus tardus aegroti 
cum  + species urologicae 
inter  + genua vara 

 
5) Translate: 
a) From the transverse artery of face. 

On the palm of a hand. (on – super – accusative preposition) 
Into the hands of a doctor. 
After the first day of a disease. 
In a good postoperative state. 

 
b) Broken fingers of the left hand. 

From the auditory meatus. 
Under the spinous process. 
With a transverse position of the fetus. 
Into human faces. 

 
 



REVISION – 1st, 2nd, 4th, 5th declension 
 
 

1) Choose the correct form of adjectives: 
processus + transversus, a, um 
genu + fractus, a, um 
facies + humanus, a, um 
radius + dexter, a, um 

 methodus + bonus, a, um 
 dies + criticus, a, um 
 manus + sinister, a, um 
 species (tea) + aromaticus, a, um 
 
 

2) How do you make the two nouns make sense together? 
defectus + olfactus 
fracturae + manūs (pl) 
lagoena + species (tea) 
praeventia + caries (sg) 
periculum + rabies (sg) 
remedium + scabies (sg) 

 
 

3) What is wrong? 
post diem criticem 
inter genūs 
in apparatu opticu 
ductus lactiferus 
praeventia infarctūs 
unguentum pro decubitibus 

 
 

4) Find the opposite of: 
status optimus 
genu varum 
caries parva 
signum morbi certum 
periculum maximum 
facies externa 

 
 
 

3rd declension - exercises 
 
1) Decline: 

dolor acutus 
pes sinister 
functio laesa 
graviditas extrauterina 
corpus humanum 
vulnus punctum 

 
2) Connect with the prepositions: 

in  + pulmo sinister 
sub  + apex lobi 
post  + operatio longa 
infra  + foramen nutricium 
ex  + femur dextrum 
circum  + cortex cerebri 

 
3) Translate: 

a) A lobe of the right lung. 
With a small scar. 
From the curvature of the stomach. 
Into the heart. 
Without postoperative complications. 
Because of a stab wound. 

b) From the cavity of the mouth. 
Between the kidneys. 
After an allergic reaction. 
Fracture of the left forefinger. 
Because of an ulcer of the stomach. 
From the right side to the left side. 
 
 
 
 
 
 
 
 



3rd declension – revision, exceptions 
 
1) Decline: 

ren dexter 
amputatio complicata 
extremitas fracta 

 ulcus ruptum 
 
2) Decline (exceptions): 

auris interna 
dens caninus 
os fractum 
vas laesum 
 

3) Connect: 
ex  + ōs 
in  + os planum 
supra  + pelvis feminina 
caries  + dentes incisivi 

 
4) Change the number: 

fractura pelvis femininae 
tumor ossis benignus 
laesio vasis 
apud ōs 
 

5) Translate: 
Into the mouth. 
Fractures of the sacrum bone. (sacer, cra, crum) 
After the extraction of milk teeth. 
In blood vessels. 
 
 
 
 
 
 
 
 

Credit test sample 

 

Connect the words: 

apud  + genu varum  

fractura  + extremitas dextra 

lagoena  + species urologicae 

sine  + caries profunda 

ex   + ōs 

 

Give the opposite number of: 

propter vulnera puncta 

caput ossis 

radix dentis canini 

cum osse fracto 

post partum praematurum 

 

Translate: 

With transfusion of blood. 

After a long operation. 

Suspicion of ectopic pregnancy. 

Without fractures of bones. 

Lesion of the digestive system. 

 


